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Befura you start to answer the questions you must
check up this Booklat and ensure that it containg all
the pages (1 -24) and see that no page Is mlssing or
repeated and that each paga has the Test Formy number
printed at the hottom of the page, If you find any

T R Frat 4 & Tgnt W aE R R e s e i e §
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2.. In guesbons sel bAngually i Engish and Hindf, in case of
dizerapancy, tha Englsh verslsn will pravall.

3. Al queshbons are compulsony and camy equal marks.

4,  The paper carrfas negalive merfdng. .25 merks wil be deducled
for sach wiong answer

5 You wil be suppied the AnswerSheat separalely By the
Inviglalor. You must complete and code tha details of Name,
Rodf Humber, Tickat Humber angd Test Form Mumber in the
Answer-3heet carefully. You muzl also pint your slgnatie and
‘Lef-Hand thumb  mywes<ion op the AnswerSheet sl lhe
prescribed place before you actvaly stat answering the
questions. These ingtuctions must be  fully compled with, faling
which, your Answet-Sheet wil mot be evafrafed [V.HJCernkral
Palay candidates will have to ensure that these d=tallz will
be filled In by the seribe. Howeverall V.H./Carabral Faley
candidates must put thelr left-hand thumb Impression at the
gpaca provided in tha AnewsrSheatThaose V.H./Cersbral
Palsy candidates who can slgn showld 3lso put  thelr
aignaturea in adeitfon to thumb Impression.)

G. Answers musl be chown by complelely Hackenlng the

_ comasponding clrdes on Sie-ll of the Answer-Sheet against the
ralavanl question number by BlackfBiue Ballpolint Pan only.
Answers which are not shown by SlackBhre SelHpoint Fen wi
rot be ewarded sny mark

F. A machine will read the coded information in the QMR Answer
Sheet. In caze the information is incomplete o different from the
Infeamiation given it the applicetion fomm, such cardiiate wilt ba
awarded "ZERQ" mark.

8.  The Answer-Sheet must be handed cver to tha Invigilater befors
you beaye the Examdnation Haf.

8. Fallure te comply with any of tha above irstructions will
render a8 candldata llabla to euch zclinnfpenally &5 may bo
deemed fit.

0. The manner in'which the diferent questions ara fo be answered
has besn explained al the back of this Booklet (Paga Ne. 24}
which you should read cxreflly before actually answering tha
questions,

11. Answer Lha gquesbons sz quickly and as carefully as you ¢an,
Some queskions may ba difficul and others easy. Do nol spend
e much Eme on any question.

12. Ha reugh work is to be done on the Answor-Sheet Blznk
spaces provided at varfous places in the question booklet
may be uged for rowrgh work.

: 13. “"Mobife phones and wirsless communication devices are

. camplefely banmed fr e examioaiion Rellsfrooms.
Gandrdates are edvised not to Kesp mobife phonesfany ofher
wiraless communfeation devices with them cven fn switched|
off mode, In thelr own Interest Falling to comply witfr fhis
provisfon will be consldered as using unfair medns in the
exaniration and action wilf be faken agalns? them Incfuding
cancalfzilon of their candidaivre,”
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defect In thls Booklet, you must get it replacad||®% 3 T8 A aree sre 2 apll Ywwa d |
immedlately.
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Part - |; General Intelligence
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Part - [: Genetal intelligence
WL - | 9EATeT giam

1j If x stands for +, + stands for +, + stands for -,
and - stands for %, then what is the valuc of

(30+203- 5(7+ 3)x 25=7

v wmate 2 AT wE
s Ay &
(30:20) - 5(7= 3) x 25 FT A FAT N

A} 100 LB} 20
c} 10 : P} 25

Question Nos.2 fo 3
YRy 2 & 3a%

Directions / {32 From the given alfernaiive words,
select the word which cannot ba formed vsing ihe lettars
of the given ward: - -

farafateT Bwcal # o aF e gidv &t Be av
SEE & T Fr g I A7F ST o 5earn

2} POLYTHEISM

A) THESIS B} HOTELS
C) PISTOL D} SMITID
‘@%MMCWHE
- MENACE B) MANIAC
. PAINT D} PATENT

4} If+means+ , -+ means -, - MEANS X, X means +, hen
12-8xG6-4=0+3="7
Ilﬁr_[_raﬂ-aﬁi'!+1 %, et a,;!-ml;! g, lt.lm-ra_]ﬁ-':{u El-’
waTagt e ari2-8x6-456+3=7

Directions / I&er Find the odd wordfstisrs/number
from the given alternatives.

2w e fenear 7 B A ey e aegr gia

5)
a3]ag | a1
42|44 | 7
47| 2 1 2
K 494546 B) 404846
C) 464045 D) 454946
@E‘
5498
(613817
7124
652045
B)
D) 3
A} 417 B} 147
c) 175 D} 171
Girestion Nos.8 o 16
T AT T 16 F

Dh@}lm . 4 P P

8) -
A) 292 B) -33
C} -li2 B} +118 A) 163 B) 131
Q) 137 Pl 166
Question Nos 5 o7 9)
- X HSA S TR A} MOQ B) BDF
Directions / 230 Select the missing number from the G} XvzZ D) RTV
given resposes. :
2T av feewr A & g7 e v S 10) _
- A} Oil:Lamp 8) Oxygen:Life
ad de it : SlraeT
C) Waler: Tap D) Fower : Machine
ot A giTebel - FIOIT
IR PG

1z
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Part - |; General Intelligence

T - ;. R AT

11)
B) Glucose | TIEH B) Chlorophyll / FERITG
C} Nitrogen / AERITH D} Photosynthesis / WL
HIWET
_A) 126 B) 215
| ©) 28 D) 65
A) 51530 B) 2610
C) 41220 : D) 3915
L
' Aj ROCB B) HIXY
G) LMVW . D) NODE
15)
. A} EHHL : B} CGFJ
' G} GKIN D) IMNR
,:,15)
A) Arunachal Pradesh/ B} fsharashtes / FHERTSE
Kty B RN
2 Gujrat/ T D} Karnataks / FIESH

uestion Nos 17 to 21
v e 1T 321 TF

Directions / F18Rn A series is given, with one term

missing. Choase the comrect slfemalive from fhe given
anes that will complete the seres.

v I 2T 8 rad v v gaT & Br i
Beegf i o g T A g ST HGER B 90
e ;

@ 4.7, 19,3979, 159

A} 12 B} 10

c) & D 9
21) Z, X, V, RN

A} O B} 8

c} Q B) P

22) Iais and his father has ap age difference of 35 yeas now.
After 5 vears, the sum of their age is 125. What will be the
age of Jais and bis (ather after 12 years from now?

Srer 39T 5 T ) T AT ST A 35 THAIREN S,
e, Y R T 125 81 Sea = 12 EEECY

Srer 3T e Ry 1 30y e € i
A) A0&TS B} 45& 70

40 3T 73 45 ¥ 70
C) S1&SS D) 52&87

51 37 85 52 Wit 87

23} Which one set of letters when sequentially placed at the gaps
in the given letter seres shall complete i?

aﬂ?ﬂﬂmﬁﬁlﬁrmqﬁ?ﬁmﬁﬂ

ey TR A A F T ST 30 G R
sbocsaabe Jbazb_

A) abac B) =aecac

C} ackc _D) abeo
CQuesiion Nos.24 to 26
Vo GEIT 24 ¥ 26 9%

Directions / 5w Arrange the following words a5 per
arder in the dictionary, ”

ﬁmﬁ@awﬁrfﬁsmmm#ﬂvﬁ?mw%w
feid

1Extgrtioner NExtemporize  3)Bxtinction

@7 16.30,2,79, 114 fFxtermination  5)Extinguisher
A) 45 By 49 A) 24351 B} 24,531
c) 51 D} 6 C} L2545 D} 4,5.2,1,3
'@ 1,48, 4,24, 7.2, 10,2 25) 1JLamderetic NLaughter
TLaundry 4jLaunch
A) 2 B) 12 i .
c) 8 D) 18 A 2.4, 1.3 B) 4,2,1,3
€} 1324 D} 4,1,2,3
19) TR,EN,.2
A Y . BYE
&)L g DY M
TA20M15 / 1303844 3 : PTO



Fart - |: General Intelligence

TR« | ST~ FmeT

26) 1)Complicate 2} omphigity
3)Complicaticn 4)Compliant

A) 4231 . B} 42,13
P} 4,1,3.2 Dy 21,34

27) Which of the following diggrams best represents cousins,
nieces and females?

frfaiaa # B olqar anta ==t aft=, st o
wfgarait & BEw sl og Enlar e

@|w|o|&

. 28) Which answer figure will complete the pattem in the question
figure?
Ft i st sl ww ylfﬁﬁrq‘wﬁlm gy T

e

i
¥

L L - e

A} ~B) <) 0

Question Nox.29 fo 37
VT T 29 T AT A%

Directions / (A2 Select the relafed word / fetlars 7
number from the given affematives,

e oo Bacal # & HeafrT srea/ 3w aear &
ghiey

29) RORRIM : MIRROR :: TMESERP : ?

32} Mathematics : Laogic =2 Scienca : 7
ATV : oo o [ Tne o7

Al Leborstary /imemer B Scientists 7 dntaw
C) Experiments / 9iRIoy .«m Facts § 2%}
; P

33) CAC:KGI;:HDF?
A) PLN £) NiL
C) XY D) FED
34} Window ; Pane :; Dook - 2
Tt : e 2: fomar 2
Al Nowel f IU=LUH Br Page f 50

C) Cover/ 3aeor D) Glass / 8frerr

358) Fan: Wings :: Whael : ?

9T O T ?

A} airtarmg B} Spokes/amrY
C) casimr B} Round /7w
36) 4845 :452: 5964 7

A) o B} 597

£) 54 D} 942
37} BUT:TUR :: NET : 7

A) LET B} PET

£y TEN D} TWO

38) After walking 200 mirs, I tummed right and coverad a distance
of 100 mes,then tumed left and covered a distance of 300
mtrs. In the end 1 am facing towards Morh.From which
direction did I start my joumey?

200 #iex was & @ # giv 7y AT 100 deg B
o g ), a¥ aiv 757 3K 300 A Frf aa
Ha A, AT 4@ Toag A F few eew A

A) PRESENT B) TNERESP
C) STNERPE D) CRESENT el AT Y 2
- A) East/ i B) South /2f8or
30) 12593 : 35391
20684 : 46982 Js D}
o g £ Norh /3o West / TR
A) 69237 B) 62793
gl o D} 92637
@ 6:18::4:7
A) 15 B} 2
Cy 6 .. D)8
THEO15 F 1253084 5 . 4 PTO
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Part - |: General Intelligence

T - [ T e

39} A word is represanied by only one st of numbers a3
; givan in any one of Mhe aflematives, The seis of
numbers given in the altemalives are represented by
o colasses of alphabels as in Rwvo maldces given
befow, The columns and rows of Malnx | are numbered
from O to 4 and that of Malrix If are numbered from & fo
9. A lefler from these malrices can be represenfed first
by its mow and next by #z column, e.g, B' can ba
reprasanted by 00,23 ete., and P can be represented
by 56,65 eic. Simifady. you have lo identify the sel for
the word 'DEBRIS'

* % R FaT O GEQ-THE QAT GHIIT 74T 8,
Jar fF RBecyt F & Bt o F By iy diwe
I B wv gy s & & @ gony suie aw
& dar B ofre B o gt el F 8 g &
_ R A RT Frammod A A E Al

. WEgE Nl #5091 57 Hegel A vF W & e
3w #Y O AT T F T g gany vl ar
F & FaEror & /v B F 00,23 3 AT
Zoigr T FHAT § FEH P & 56,65 e ZaTT Sukw
5T T & 26 A & yyuEt TR A B ey
'DEBRIS' & A7 &Hg ®F sgaiar §f

MATRI A{XTE - ) MATRIX QU - )
oi1(213]4| | j5[6|7[8;9
oiBJU[I[L[D; |5iS|P|A|RE
1jule|Lio|Bl [6{P|A[R|E[S
2|1iL|D{BU TiA|R|E|S|P
s|Lip[BlUTE girR|E[S|P|a
ap[eulTi{L] [eiE[S|[F[A|R

B) 22,5942,59,34,69
D) 40,95,14,58,34,69

A) 22,9559,30,14,69
) 40,95,14,39,30,69

: 40} If MOTHER! is ¢oded as TOMREH', what should be (he
: codde for the word NEPEEW™ 7

IR MOTHER' ) 'TOMREN & ¥4 & Hfs fomr Jrar ¥
dT'NEPHEW' 2= % forT T aR13 g arigwy?

41]) Rahejn staried from a point. He wélked 3km to the Nosh,
then tmed Fast and walked 4k, then turned West walked
2km and then memed West walked 3km and stopped. In
which direction is Raheja from his starting point?

Tl =i e TT O T O TR a8 3T Se
3 =T AT g8 & W aset 4R, a9 BT ag ¥R
AT 21T Tt 20 T 3T A TivTA B N HER
318 el %9 T TR 10 TS v O
AT

A} East / f{é'
C} Yonh/ =T

8) West / QT
“B) South /2oy

42) Tfapaperis folded in a panticular manner and punch is made,
when, unfolded this paper appears as given below in the
question figure. Find out the manner in which the paper is
folded and (he punch is made from the angwer figures given,

Tfx frdr aerer = v e fafr & Aeet 8
fErar I & Widel W 95 IS A 6 15 ¥
et Frar R 3 B g sox it A ¥
et Bart B TR o e 9 A AR A
firar wmr ar?

oo

oo

-C} D}

A) ENHPWE B) HFENWE
C) WEHPEN Iy PENWEH
TX2Z015 1 1395644 5 PTO



Pant - |; General Intelligenca
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43) /o the question ona sfatement s given, fflawed by fivo
conclusion/assumption, [ and l . You have to consider
the stelement fo be trie even if they seem o be at
varmance from commonly known facis. You have o
decide which of the given conclusionfassumptions, if
any. folfows from the given statements. :

geeT o v FyA 13y ot 3 Faraer it gt s 7
yafsrarT el B av 8] sirewt A S e
g & T RS I W et & B adia slar

EEie gt 3ot Ui a5 e are et /
GaElgHET H B FlE pr sl & [Affag av O s3asem)
IR AP FTar S e aaa 8 ak wig &
Staternent / St

An adverisement in the paper says "Consume pure organic
honey of Company A"

AR U= 7 06 R § 3R, S A & U
FAAT YES AT i

Conclusion / f=Fq )

DArtificial honey can be prepared,

S $1EE TRIR forar 37w B

INjPecple don't mind paying more for pere organically
prepared honey.

STl Y, TS T A A9 278 & [av it

ST et S ST F1e 2]
A) Assumption[ s implicit. B} BothIand I are implicit.
HegAret 1wt 8 JFAEL A mam!
e B

) Neither Inor 2l is implicil. D) Assumption H is mpliit.
Ty TR HgAW 1 REearg
[ECTOIE

44) Adam who is 20 years old i5 4 times as old as Mary. What
will be hary's age when Adam is twice as old as her?

teA 0 e W g, A S 4 A e tEm AT O
TAAT FBT £ 1T 30 T 8 6 a0 Rt gin

A) 7 yearsa@y B) 39 }'earsfflﬁ
€ 35 years.l’ﬁ’& D) 5 }'ear&"d"ﬁ'

45} Inacertaincode 0,12 .9 is coded as a,b,c.......j then
find baf = bfx d

v fAag e S 3men0,1,.2.....9 & abe...
FET ST E A bat + bfx 4 FT A AT §RE?

A} df B) be
cy d D} cb

46) The number of triangles in the following diagram is:
et snta & st Sraen e g?

ININANY
VAT,
AN
Y

Ay 13
¢y 17

B} 14
D} None PG G

4;} In 2 ceptain langpape, PRAYER is coded a5 MOXVBO, then
how 3ALUTE will be coded in the same language?

et 3T 7, PRAYER Y MOXVEO & 59 7 #ifsa B
ST &, A 34T 3rar # SALUTE = 358 BT sromy

A) PIXROB B) PXIQRB
C) PIXQRB D) PXiRQB

48} From the given answer figures, selecr the one in which the 5
guestion fipyre is hiddenfernbedded.

& or§, 3 el & ¥ 36 sEN Hly g
o o sl W 8

TA205 f 1303644
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Part - |; General Intelligence - AT - ); BT A

' 49) In the question one statement is piven. You have to answer
conzidering the statement to be truc, cven if it secm to be at
variance from commonly known facts.

weet U FrnT fom A E B e ATl i T
FUADYA ] T AREL 913 Io/d 7 o= 8 e it

B VAT &, SR T
Statement £ A}
Students go to school in unifonns.
' " A) Uniforms are compulsory, B) Studenls look smart in
E it FEEE H unifomms. . g
| oF o gea e & 10
w2 Q £
C) Uniformes are easily D} Uniforms create A sense of U\:\ ?ﬂ
; available. ; belongingmess. / sk
adl 3l A IRy Ter TR A ¥ !
&l Seest HE B
| .- | 0
50} If a mimor is placed on the line AB, then which of the answer 1\4"] 1)) X \ g
figures is the right image of the given figure? [Q_ #} ~ {- £ e
uﬁwa&waﬁmmwmmmﬁrﬂémf '
[ et A W Wl el SRR B W 2,
\‘Z’ -

o p &R ST

THI0T6 7 1553643 : & Wi F10




Part - |I: Engllsh Language
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Part - [l: English Language

Cuestion Nos.b1 fo 52
Directions ! A seplence has been given in
Active/Pazsive Voice. Ouf of the four alternalives
swggested, sefect the one which best expresses the
same senfence in Passive/Active Voice and mark your
answer in ifte Answar Sheet.

51 Twas ohliged to leave.

A) Circumstances obliged me B) Circumstances have
to leave, obliged me to Jeave,
Circumstance was obliged B) Circumstanee will oblige
me to leave. me to leave,

52) Close the door.

A} Letihe door is closed, B} Letthe door be closed
Cf}, Let the door closed. [¥) Lettha dooris being
“closed.

Question Nos.53 {o 86
Directions » The 15and the fast part of the senlence arg
numbared 1 and 6. The rest of tha senfence is spiit into
four parls and named BQ.R & 8. These four parts are
not given in their proper order. Read the senfenice and
find oul which of the four combinations is comect. Than
Find the correct answer and indicate # by blackening Hie
appropriate circle in the Answer Sheel.

§3) 1.Itwas a Friday moming and
P the Fentenant scanned ihe horizon
(. just as the deseri haze
R. with his binocutars
5. was cleaning
6. and focused om many enemy Lanks.

A} RPSQ B) PRSQ
C} QSPR D) SPOR

543 1. Earth is the beene
P. to our fulure@E>
3. we all share (T}
R. generations as their “
§. and would pass on $5
& legacy.

A} OFRS
C) PROS

Bj QSPR
P} SPQR

55) 1. Aman

P_with yellow,red, g;men‘@
. stood helding [f)
R. balloon
5. apuale @
6. flying fom it.

A} PROS

Gy QSPR

B} PRSQ
D) QRSP

86} 1. Margaret Noble
P. became a disciple
Q. of $wamf Vivekananda
R. a remarkable Irish fady,
5. and dedicated her life
6. to the service of the Indian people.

A) R¥QS B) SROP
C} SOPR D) PQRS

AQuestlon Nos.57 fo 60
Directions : Senfences are given with blanks fo be fifled
in with an appropriate word(s) Four aflernafives are
suggested for each question. Choose the correct
aliernative out of the four and indicats it by blackening
the appropfiate circls in the Answer Sheel.

57] Thaveno office work.

#) experience of

D) experience in

A) experience on
C) cxperience to

58) Solar panels are used to Satellites.
A} powers B} powerfil
G} mower D) powerless

50} IHis wornds were for the occasion.

A) suit B) approprately

<) suitably D) appropriate
60} Teadollars too much to pay.

A] were B} could

C} are R} is

Questian Nos.E1 1o Th
Directions : In the following passage some of the words
fhave been leff out. Read the passage carstully and
choose the comect answer to each question ot of the
four altarative and fll in the blanks.
Squirrels are _1__animals in the werld, They have the I
for rainy days. Autmn egn be very entertaining for them. Thai
isthe time I _ihe great harvest collection for their winter
siore. Youcan IV here and there, collecting ants of all
sorts, Walmuts, beechnuts, chestputs, dried bemies ...
They are not fussy. Refentlessly, they run from their storage
poing, usually a tree hollow, 10 the vast amount of wild nuts to
be [ound in the forest
These beautiful animals are house-proud. They lake great
pains to ensure that _ ¥ and warm enoughto tide them
aver the harsh winter, You _ V1 busily collecting solt
pieces of bark, wood and leaves to line their nests.
After all their _ VI, and when the first, cold hard frost
armives, they _ WL inside their pests for the duration/rest off
the cold spell. There, X till it is warm encugh to bring
ot their stored feod. Ah but then again, they are the most
forzeiful little animals, and it is not unusual 1o se2 squirrels

% _their hoards.

THZQ15 7 1393044
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Parl - II: English Language
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B1)

A}
C}

62)

A)
C)

, 63}
A)

<)

&4}
A)

C}

&5}

A)
C}

t 66)
X
[ o
67)

Al
<)

BB}

A)
C)

69}
A}
C}

70)
A)

C)

Question Noz. 7110 74

{T) the tore resource B} (1) the most rescurceful Directions : A ped of tha senlence Is undadined. Befovs
{I) the most Tesource D} (T this most resourcefil are given alfematives fo the underlined part which may
improve the samence. Choose the cormect altemalive. In
casa ro fmprovemeant s needed choose "No
frproverment’.
(II) knack of saving up B) (D keack of saving down | $4) A srecdy man always hankers after money.
(1) kmack of saving on B) (M) knack of saved up
A) No Improvement B} munsafier
C) wanted DY} gresds after
(IIL) when they begin B) (I} when their begin 72} Ttis pot difficult to forgive someone who says sorry.
(I1[) when them begin D} {IN} what they begin . -
A) s apologising B] Mo Improvement
C) apolozises D} is asking somy
(IV) secing them B) (1V)see their scamperiog | 73) Ours is a joined farily.
{IV) szen them scampering D} {IV) see them seampering A} join B) joint
C) jointed D] NoJmprovement
; . 74) DBe quick otlienwise vou would miss the train,
{V) theair nestas securing B} (V) their nestis secure
{V) they nest is secure D) (V) there nest is secure A} otherwise you will B) NoImprovement
C} otherwise you could have D) otherwise you will have
(V1) is saw them B) (V) will saw them Dircct Fo Q”E:ﬂ':"? Nos.75 to ?Bf the kiiom /
will see th D il th reclions | Four eftemalives are given for the diom
~n e ) (VD) will seen thein Phrase underined. Choose ihe alfernative which best
exprassas the meaning of tha idiom f Phrase and mark it
in the Answer Sheef.
(VII) scavenping is done BY) (VI[) seavenged is done 75) Take tha bull by tha homs is
(D savsaging isdoing T) [vllyscavengedonas dono A} tobe seositive A} o win the batile
C) to face a difffculky D} to be helpful
courdseounsly
(YII) are seal themselves B) {VIIL) will seal themselves L
{(VIID will be seal Dy (Vi) will sealing TE) Sailin the same boal,
Themsclies Themshies A) beinadifferent situtation. B) suspect something wTong.
€] beinthe same situtation. D) suspect something
URCATITY.
{IX}they will hibermate B} (EX) them will hibemnate
(IX) they are hibernated D) (TX) they will hibemating | 77} A false friend never hesitates to shed crocodile tears.
A to pretend to be B) to feel dissappointed
sympathetic.
_ C} tomove from one placeto D} to show false happiness
(&) search desperate at B) (X) searching desperates angther
for
(X]) searchinp desperately D) (X) searched desperately .
for for 78) tobeina quandery
A) 10 b2 m aconfusing B] tobsinan unenviable
situgtion posilion
C) tobein o commanding D] tobe ont the alert
position
THODTE T 1363644 5 ' FTO



Part - Il English Language A - 11z o vy

87) A lepal agreement that allows someone to use a building or

Orestion Nos. 79 fo 82 : : ; :
Directions : Spme paifs of the senfences have srrors land for a period of time, usually in reurn for reat.
and some are corect. Find out which part of a senfence A Assurance B) Deal

has an eror and blacken the circle comresponding to the ) Bond D} Lease
approprale comect option. If a semence Is free from _ ’
error, blacken the circle comesponding fo “Na Error”

oplion in the Answer Sheel. £8) A person who helps another to commit a crinte.
79) She made the child to study hard. A) Colleague B} Accomplice
C) Assistant D} Supporter
A) Shemade B} ™o Ermor :
#C} 10 stucy hard B} the child
' 89) A person who worships ondy ane God.
80) The door should be keep closed. A) Philogymist B} Theist
;) Monotheist D] Polytheist
A3 The door B} WoEnmor
C} keep closed D) shovld be
90) The act of killing onc's own hrothar or sister.
-81) The promise was broken by him. A) Suicide B} Framicide
C) Homicidz D} Patrivide
A) was broken B} No Emor
C) by him D} Thepromise
Questian Nos.91 16 94
82) Rakesh founds the newspaper very dull. Birections : Four words are given in each question, out
. ) of which only ana word is comectly spelf. Find ths
A} the newspaper B) wery dull somectly spelf vord and mark your answer in the Answer
C} Rakesh founds D} NoLmor Sheat,
a1)
Question Nos.83 (o 86 A} Jewillery B) Jewellery
Directions r Choose the word opposile in meaning to the C) Jevelry D} Jewelery
given word and mark i in e Ansveer Sheat
22)
83} Traitor A) Obeydient B] Obedient
A) patriot B) member €} Obidient B} Obediemt
C} officer ¥ migmant
91)
84} Detest Ay Diffuse B) Difuse
A) adore B) withhold ) Difsses B) Diffusse .
) assist D] injum
a4)
85) Ascend : A) Patotism B} Pattiotism
A] climb B} descend C] Patratism D-}‘ Patrictism
C) soar . D} rise
Question Nos.95 fo 98
86) Repel . Directions : Ouf of the four affematives, choose ihe one
hich best expresses the meaning of the given word and
A] annoy B) drag bl o ‘
C) attract D} coax mark if int e Answer Sheal.
95) Result
Questfon Nos 87 fo 90 Ay dara H) decision

Directions C) cause D} outcome
AN GILIES s
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Part - Il: English Language

v - U i A

a6) lousy
A) awdill B] aura
C] awcsome D) awry

97) Tnvineible

A) yielding B) unassailable

C} fallible D) vulnerable
98) Crsade

A} flatien B} angry

C) campaign D} eritical

Quesifon Nos.59 to 100
Directons ; A sanfence fias been givern in Direcl/
Indirect. Qut of the four affernatives suggesied, sefect
the one which best expresses the same senfence in
Indirect/Divect and mark your answer in the Answer
Sheet.

99) The men said,”We are going te fly kites."
A) The men said that they are B} The men said that they

going to fly kites. were zoing to fly kites.
C} The men said that we were D) The men said that we are

going to fly kites. going to fly kites.

100} Kumar says, "It dosen't rain in January”.
A} Kumar said that it dosen't BY Kumar said that it didn't

gain in January, rain in Jafoery.
C) Kumarsaysthetitdosen't D) Kumar says that it dide't.
rzin in January, rain in Janyary.

&
']j,.
Q5™
X
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Part - IN: Quantitative Aptitude
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Part - lli: Guantitative Aptitude
10 - JII: s it

101) 130 workers were engaged 1o finish a piece of work in a
certain muraber of days. Four workers dropped on the sccond
day, four more workers dropped on third day and so on. Tt
takes 8 nrore days to finish the work now. Find the number of
days in which the work was completed?

8 18T 7 W I ol W 6T & Ta0 150 RO @y
FIT) AT AL G et S Bt vl 710, e A
. FIAIT drat fée o 10, ol wa 1Y off o w2 a1
A G B A § 1T 310 wdt) a0mv et i A=y
e

A} 28
C} 24

B} 30
o 25

102) A mixture contains milk and water in the mtio 5 ; 1. Oa
adding 5 iitres of water, the tati of miik and warer hagomes
5 : 7. The quantity of milk in the mixture is:

T T A g 3T I3 T He T 5 - 1 3 5 e uRh
ATl ST gl 3R I 7 g 5 - 2 6 ot B R
A IR HEIRE T ey

A} 25 litres / dire
C) 22,75 litres / ¥t

BY 16 litres £ 89927
DY 32 5 fitres s 8

103} The average of all the odd integers bepween 2 and 22 1g;
2 31 22 % & sl v qoitt =7 atwa s 2

A} 11 B) 14
c) 13 Dy 12

104) The least number that should be subtracted from the number
32146 to make it a perfect square is:

G TR W Fa ¢ T 32146 H  werd gy go &
< I

A} 205
C) 105

B) 403
D) 305

105) The diameter.of a i20 cm long roller is 84 cm. Tt takes 560
compléte revohotions of the roller v level a ground. The cost
of levelling the ground at ¥1.50 per sq.ou. is:

120 cm ¥4 AT & SR 84 cm, §] STAR 3G9
T A UET & 91 500 TR @O & 1,50 O
AL T FHA FI THAT Hiad =7 dAEE FE e

B) T 6000

A) T23%
D} T 5750

C) T3762

106) Mr. Dhata desived to deposit bis retirement benefit of T3 lacs
partly to a post office and partiy 1o a bank at 10% and 6 25
mtercsts respectively. If his monthly interest income was
T2000, then the difference of his deposits In the post office
and in the hank was: ' :

. Zoal HOR T3 W B Aar Hafea 9w =
e 3 BT F I v §5 A FEE 10% 36 %
F S W SHT ST 95g ) G I  fas
UM T T2000 3F @ s AR dF & 3=dy e
T #F R HaAw an

B} T 1,00,000

D) ¥ 40,000

Al Nt e
C} 730,000

107) ¥Yolume of a night ciceular eylinder of height 21 em and base
radius 5 cne {s:

21 e 55 3T 5 o &Y 3R Fowr grer o gt faaET
T MTAAA TR EIr?

A) 1255 em?®
C) 1175 emt®

B) 1650 cm?
) 1050 cm?

108) A right tiangle with sides 9 cm, 12 cm and 15 cm is cotated
about the side of 9 cm (o form a cone. The volume of the
cone st formed is;

9o, 12 em HIT 15 cm & 7T I 6 B srafe
9em ST W OHART Y [S6H 9% 99 TR 3T VR
& §ig @1 AaE feasn g

B) 33011 cm?

Al 32411em?
D) 327 (Tem?

C) 353411 cem?

TXE016 7 1500648 -
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Part - llI: ﬁuanﬁtatfve Aplitude

T - LIz Sremmers wider

Question Nos.109 {0 113
A it #1335

Directions / 3530 The bar graph provided below gives

the data of the production of paper {in lakh lonnes)by
three different companies X, Y, Z aver the years. Study
the har chart and answer the folfoving guestions.

Eriofes are urm A diT e e sriaar
X,Y,Z ZarT o avf # v 77 FrE & I (e
z 7 st ;@ guiar A a-ard e iaae

FHIT ¥l vt 71 300 SfFE

55 _

E 3‘; a5

,h. 40

2 . ro,

1529 B

B By B

- ¥ “

E ZW=\7

£ Y BEY

" 10 ¥4 o

& 5 ? 5;
H 1 1 % 2000
Bx 2 45 25 S0 1]
gy 5 FH a 40 50
az 5 49 45 85 35

109) The difference between the production of company Z in 1953
and company Y In 1996 is:

1998 3 7 S AR 1996 B Y s F sooesr S =0
R E?

B} 2500000 tonnes /e
D} 10,060,000 tonnes / &=

A} 15.00,000 tonnes / &=
C} 20,00,000 tonnes /25

110} The average produchion for five years is meximum for

company?

g gt &7 3T IoaresT BRe sl o e
A} Z B} xandz/xalR 2z
Cr Y D} X

111) The percentage increase in the production of company Y
from 1996 to 1999 is:

1006 & 1999 F% Y ST & Towe & e v g
i

A} 60%
Cl 0%

B} 53%
D} 40%

112) The ratio of (e average production of company X in the
period 1998-2004 to the average production of company Y in
the zame preried 15:

16982000 £ 3EFA X 9t & Waa IoaweT R I
3T &y Sl ¥ i senes ST IS T E?

B) 23:25
0] 24:27

A) 27:29 -
C) 2326

143) The percentage of production of company Z to the
praduction of conpany ¥ is maximum in:

Z ST o 3ETEA A Y AT 3 30 # wioeia
g ¥iteas wmre

A} 1999
G) 1996

B) 2000
D) 1998

114) 1f 12 men working 8 hours a day complete the work in 10

days, how long would 36 men working 12 hours a day take
o complete the same work?

uﬁl?mﬁauﬁﬁﬂﬁ%ﬁﬁﬂﬂﬂ:%ﬁmaﬁwﬁﬂ
HomaE il 16 AT oy R 72 9 smra s

T H g R A g swEn
Al & B 6
c) 7 D) 1o

415) The average age of moether and her six children s 12 years,
which iz reduced by 5 years if the age of the mother is
cxcluded. The age of the mother {in yrs) is:

#i 3 s 6 a=aor B AT g 12 af B AT g
I 30T A T YT 5 T8 FH & ST By A7 A faer
@A

A} 48
C) 42

B} 40
D) 50
. -
116} % = a(Sin® 4 Cos@ ) and y =b {Sind - Cos® ), then the
value of %2+ +2 is:
ot Bt
O x = afSin® + CosO ) MY ¥ =b (Sin@ - Cos@ ), &

2+ ¥2 T FIE FE] A

a? hE
A} 3 B} 4
c) 2 D} !

117) If 2¥+b2+c?=2{z-bc)-3,then the value of a+b+e is:
Tt si+bieci=2{a-b-c}-3, Al athic T HETFGTEET?
A} 1 By -i
D} 2

TX2016 1353644
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Part - 11l: Guantitative Aptitude

HTT - | [F: BSUITE ST

118} If x+y=4, x2y? =14 and x > y, Then the corect valie of x
and v is:
AfE xiy=4, xiiy?=ia AT x>y, ar 3T y T EF
A T g

A) 3,1 B} 22,3
C} 2443 23 D} 2443, 202
119) I Cos® + §in® =m and Sec® + CosecE = n thew the vajue
* ofn{m&l)is equal to:
AR CosB® +5in® =m 3T Sec@+ CosecO =n @t
{n?- 1) FT HIA FTep 2= §on?
Al 2o B} 4mn
C) mn D) Zm
120} The value of 1 + I o gs
2443 1240
1 + I & 1 I
12 + {3 1243
Ay 1 B) a{3+423
€) 5 D) 2

121) If the radius of & sphere iz increased by 2 cm, then its surface
area increases by 352¢m2 The radius of the sphere initially
Was:

(use IT=22}
7

affer we alter B P 2 om ST ST @ a9
HeE ST 352 cm? 9o A &) I Ff s wiiE
Froet o?

(II=22})
7
Ay Zcm B} 4cm
C) oem B) jcm

122) The ratio of two numbers is 3 : 4 and their HCF is 13. Then
the surn of the two umbers {s:

% ST F AT 3 + 4 ¥ 3N S HgeaH TENETS

15 &) 2t &) Tt 21 2T o 21Am?
A) 105- B} 120
c) 15 Dy ilo

123) A shapkeeper fixes the price of an article at 30% higher than
its actuat cost, T he sells it at 10%4 discount on marked price
then, the profil is:

U EATEATY U e T B e anfas aea A
0% HiE T T 818y 9 30 AR HET W
10% @e 9 &aar § ot @R Thaar g

A) 18% B) 17%
C} 19% D) 20%

124) The three successive angles of a eyclic quadrilateral are in
the ratio 1:3:4, find the measwe of the forth angle?

77 et = Taget & d1F Sealical 101 1:3:4 %

I A g, 2 S it S A FAST?
A) 30° B} 12°
C) 3§ D} 168°

125) If the Cost Price of 25 chairs is equal to the Selling Price of
30 chairs, then the loss %5 is:

oz 25 A & AP BT 30 STl F PR eI &

aER &, a7 1T & wRna = 7

A) 1g20 B} 25%
3

c) 20% D) 5%

1286) Thie Tiquids, X and Y are mixed in the rafio of 3:2 and the
mixture is sold at ¥11 per litre at a profit of [0%. If the
tiguid X costs 32 more per litre then Y, the cost of X per litre
iz (im ¥ _
Zeax @y 32 & e A BlE B o § R
FRATT I 10% ¥ o 9T 11 Wi A O O S 8
afea X i 9O ¢ g A 2 afy det wiew
¥ o x A vy ST e @) 82

B} 10.80
Dy It

A) 9.50
c) 1173

127} The value of the expression
Sin?1% + Sin?119+ §in221% + 5in?31° + Sin?41° + Sin®45°
+ Sin249" + Sin597 + Sin260° + Sin?79P + Sin?890 is:
TeERld Sinl®+ 8in?110 + $in?21° + $in?310 + SinZ410 +
SinZ450 + §in2400 = 5in239° + Sin65° + Sin®¥9° + Sin?8N°

&l Hi=T 4T 5
A) 5 B) ¢ 1
2
cy o D) , ¢
2

TXZ015 1 1393844

4 AT.O

—— et m T —



B A T 4

v sranat SRR Jat el Temieh §.opor gk e B0 WL e m A

Fart - HIi: Quantiative Aptilude

A - |1 F=ATHE ghet

128) The average of 8 mumbers is 21. If each of the numbers is
multiplied by 8, the average of the new set of pumbers is:

8 Femnit s ataa 21 d 3R eSs gea s e FaOm
e ST &t HearH! 3 T B Ao Far gem

A} 29 B) 168
c) 21 D) 8

= then the value of 2{x+ty+z) is:
TR xlcbyrz=20, yixryt2)30, R elxtytz=s0,
o 2xtyte) W H FAT BA7

B) 15
D) 20

I129] Ifx{xty+2=20, y{xty+zF0, & Z{xtytzal,

A) -10
C} 18

30) If Cos A+ SinA = 42 Cos A then Cos A- Sin A is equal to :
{where 09 < A< 50%)
AT Cos A+ SinA=4ZCos A & Cos A- Sin A FTART

R IO Y

(T 0" <A< 90%)
A} f28in A B) 2/SinA
C) 5 sinA D} 28inA

131} The straight line y=3x must pass through the poiot:

T y=x ot i fig A A g
A} (0O,1) B) (20
C} (0.0 D} (L.2)

432) Find cut the wrong mumber in the sequence:
&1 I AT A I T 7S o
40960, 10240, 2560, 640, 2040, 40, I

A) 640 B) 2560
C) 40 D) 200

133) AP is a diameter of a circle having centrs at O. PO is a chord
which deez net inlerscet AB. Joln AP and BG. If

LBAP=sAB(, then ABOP 13 a;
OFT T T FAB T R PQANTE T AR T T

Question Mos.134 fo 137
¥ FET 134 & 137 O

Directions 7 8%t The folfowing ple-chart shows the

percentage distribution of the expenditure incurred In
publishing a hook. Read the ple-charf and answer the
questions.

ErraiaiRa wg-art 7 G y&aw & geree A 5
@ ar g Favr gular i 8 we-wt FT

HEUTT T FHiv e F Feaw af

Various Expenditure {n Percentage] .
incurred in Publishing a book

ETF & g # g fafeer ad{afdwa A)

BIMDANG ST

Rl wrrd

124} Boyaley on the book i3 less than the printing cost by:
TEAS U Laet, DRt a0 | Tae A g7
AYy 20 B} 5%
C) 25% D) 5514
3

135) 1f for a cenain quantity ef books, Ihe publisher has to pay
F30600 as printing cost, then the amaunt of royalty costfo be
paid for these books fs:

AT gt & 57 AFET & [T TR S 50T ST &
T T30600 T APFTAIA TAT ¢ a §ol YT & fae
LT FRTA EI Tl R & $ATaTT HT gem?

T T {APIRBQR AWT | IR LBAP-LABD, g} :21200 B) :19450
2203 o

hBQPﬁTﬁT‘TF? } 230 ) T 26150
;I A} cyelic trapezium / TR B cyclic square / whtr ot
1:' HAAR .

C) oyclicrectangle /TR D) eyelic thombus / wehiar
Had HAWEHA
TXH S F 1392544 15 PT.O



Part - {ll: Quantitative Aptilude
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$36) I 5500 copies are published and (he transportation cest on
them amount to T32500, then the selling price of the hook =0
that the publisher can eam a profit of 254 ia:

afer 5500 wickEr q=TEe fr sidr € 3R W uiEss
R TE2500 T, af Scs & 14 Jey Far e
TfET R WenTeleh 25% 1 érd HEl T

B} 7180
) Z191.50

A} T175
G} T 187.50

L
137) The central le of the sector corresponding to the
ang
expenditure incurred on Royalty Is:

Y 9T 3T @ & HgET e T Hald TTT FUTEH

A} 340 B} 240
e) 150 D) 480

138) In what proporiions must water be added wiith milk to zain
20245 by selling the mixture at cost pricc?

TFPOT = S JFT O SR 20% 5 Wied T & 0

a8 3 urAT R 3TaTd # TR g
A} 5:1 B) i:1
C) 1:5 D} 4:1

139) The centroid of an equitateral iiangle ABC is G and AB=10
¢m. The length of AG (in cm)is:

TR TREA RS ABC T F5E G ¥ AN AB=1Gcm o
AG Froai {em ) Freelr 2y

A) 51 B} 1083
3 3

c) 3. py _10
3 i3

140) Ifx-x tan? 30° = Sin? 30? + 4 Coi? 457 - Sec® 60F
}-+an® 300
Then value of X is:

T x-x tan? 300 = Sin? 307 + 4 Cot? 45° - Sec? 60°
14+tan? 309

Al x o HI w1 gy

=

A)

L=
L Ll ol

C)

L —

141) A train is 250m tong. If the train takes 50 seconds to cross a
tree by the rallway line, then the speed of the train in kn/hr
is:

o YEAIET 250m o) §) afy oF 19 e aE e el
O 1 B 50 5T dol & ol FREAT M Beaa Feeiaer §7

8} 5
D} 9

A) 10
.c) 18

$42) The marked price of a CD is T250. Tt is sold for 2225, The
nke of discount Is:

e TVEr 1 R HEm 250% jgE s A AT dromid
e ey fhaadr gy

Al 1% 3) “1_%
9
] 25% D) 2.5%

143) Moban purchased a bag wilh 20 peicent discount om the-
labelled price. He sold it with 40 percent profit on the price
he bought. The percentage of profit on the labetled price is:

Figet = 31T #ea W 20% fded drge R s aT
aiiarae 39 @i S W 40 Ui H A e AT

feram 3if3a HE OT SO & SR BT 7
A 24% B} 20%
C) 18% D} 2%

144) 1f 3416 x 6 is a pesfect square,then the digi ae ' is:

T2 5416 x 6 07 T3 & A X' OF o\ AF g
Ay 9 B} 4
cy 3 D} &

145) Ram babu donated 3% of his income tn a chanty and
deposited 12% of the rest in bak. I now he has T12804,

then his income was:

A T =T 3T 1 3% A e & o i e
122 3 3 AT ¢ ) A anf sud ue T 1284 AT
b 3T febtr 42

A) 17460
C) 15000

B} 7500
B) 14550

446) In A ABC, the interna! biscctors of #B and £C meet at point
Q. I Z£A=80% then B0 i5 of!

A ARC ¥, Hiahs efams BARATLC Fg oW
e Baf £A=80°, A /BOC Wrae 3% o1 §FEm?

B} 120
D] 1409

A) 1300
C} 100°

TA2015 7 130384
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Fart - |I1: Cuantitative Aptitude

I - |II: SETE AR

47) A motar boat covers & certaim distance downstream in a river -
in 3 hours. It covers the same distance vpstream in 3 hours
and half, If the speed of the water is 1.5 km/h, then the speed
of the boat in «iill water is:

v AR ST A A A e A el 3 ae AT
e ¥ it st vare A se @ g 3te sE A
el ¥ e s Pr oty 1.5 Feriverer & 61 RR SEVEE
# e By afe ;e

*4 A} 175kmh B} 19kmh
17.5 FRAEaT 19 BErvEe

C} 19.5 kmvh B) 17&mh
19.5 Frrivee 17 fEslEET

43) Let AX L BC of an equilatera! tiangle ABC. Then the sum
of the perpendicular distances of the gides of AABC from any
point inside the triangle is:
mmﬁuwaﬁcmuJ—Bc,mﬁaaa:aiﬂ
ﬁﬂﬁﬁg#mcﬁgﬁmﬁmmwmw

g

* A) Equatto AX B} Equalto BC

AX & TET BC & @Y

C) Greater than AX D} Lessthan AX
AX T 3w AXH A

49) The sides of a iriangle are in the ratio of 7:%:12. The
difference between the lengths of largest and smallest sides is
15 cm. The length of the largest side would be:

ﬁﬁgmﬁragm?:g:ua‘immﬁmmaé’rm
T O S Y wATE B AT 3 15 om B FERA A
© g e e
A) fcm B} 1Zem
C] 60cm D] ?4cm

50) A boy aged 12 years is felt with ¥100,000 which is under a
trust. The trusiess invest the money al 6% per annum and pay
ihe yninor boy a sum of ¥2500, for his pocket money at the
end of each year. The expenses of trust come 6ot 10 be 00
per annum. Pind the amount that will be handed over (o the
minor boy after he attains the age of 18 years.

12 7% ¥ e s v v & el 100,000 B3 S
amrﬂﬁﬁ%uﬁ{a&mﬁmraﬂa‘&%m

s FEF S aE Ed F ey at F s A0
31 e T 2300, SR o TR ) R FEE H 18

T $r 3y e oF ety TR Aidr Awh?
A] T 125000 B) ¥ 120000
C) T 113000 D) T 150000

THA2015 1353644
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Part - V. General Awareness

MIT - I BTATFT ST
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Part - IV: General Awareness
HIT - V- ST s

151) Which of the following states in known as the teaditional
region for Tank Imrigation?
frrrifEs A 8 R s 5 & fard & e 89

HI=T AT &7

B} Tl Nadu / TS
D) Orrisa/ 38T

Ale Gujrat / TERTE
C) Assam /3FH

152) Origin of Life by Natural Selection’ is 8 book wrtted by:
o SerereT” ZEIT HRF ¥ St 505 ey
Foreh 7

A) Chagles Darwin /=78 B} Lamarck / AT
aifé=t :

) Hugo de Varis / gaan i D) Charles Dickens / Ted
aRk® f25g

153) Who is popularly knewn as the Grand O4d Man of Indja?
SIS & AR T (e & AT 3 i e €
BY Madan Mohan Malaviya /
a1 At HeA Al Aiaard
¢) Mahadeva Govinda D) Surendranath Banegjos !
Ranade / AETEE Tide FLATR FA
i .|§

A) Dadabhai Naroji / ST

154) Unit of resistance is:

Wi & e FaT Y
A} volt fampere B) volt x ampers
FIee / TFAET diee x TFR
C] ampere/ vol: D) voli? x ampere
T T | diee? x WY

155) The gas liberated ic the Bhopal gas trasedy was:
siverer Sre ST A Seaford IR ST H

A) Ethylene / TR B) Pheynl isocynae / Al
FEAEEAT
C) Methyl isocynate/ DY Acetylene / THE T

A HEaEEnT

156} Newworke of a senes of vertical and horizontal lines
constructed perpendiclar to each other is known as:

U ERT Y daad FEANT g9 S s B AEe F
et w g A O ST ST Y ’
B) Grid systemn/ BB AR

D) Geographic coordinates /
iR ST

A} { atitudes / 38
C) Longitude 7 3T

157) Then temm "Umited Nations™ was coined by:
—ATECS A G T e u?

A} Lenin et B Chuechill /e

C) Statin/ TR D} woosevelt / ST

158} Breaking physical memory into fixed-sized blocks called as:
Frrer 79 & eitent o Pfoer SN 1 8191 4 1

FEAB? -
A) Vrames / ST B} packets /442
S} Seoments / AIBTEH D) Papesd

159) Venturimeter is used to measure:

S twires =T e Foeds A & T R et 57

A) rate of flow of liquids /
X & e 1 aT

C) surface tension / TT
delal

B) liquid pressure / (e eTE

D) liquid density / e S5eied

160) Which of the following pairs of physical quaniities have the
same dimensions?

EratafRe 7 3 fre sitfae 7 & T9A & TR AT

-«

A} \Work and Enargy /1 B) Force and Power { 59 TE
wq FA EIES

C) work and Power/ FETE D) Momenmm and Power/
e IR e

1641} Who is called as the "Prince of Moneyers™?
TR o T T ET S 57

A) |brahim Lodhi / SHRHE 8) Mohammad-Bin-Thuglaq /
anf ArgFHeg- AT

€} Ruber/aER D) Akbar/ 3awT
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€2) Which of the following species are entically endanpered?
it & @ (b sonicat & Aitac 3 watd

&

A} Forest Owlet / SiaTeiT JoEh B) The gvps Vulture / Farer
dqewfd
C) white bellied heron /& 2} Gangetic Dolphin / 2T
e 9 d9 Gh it

63} Which law states that with constant taste and prelerences, the
poporfion of incomz spend oo food stuff diminishes as
income increases?

13T Wi & 18 w5l 91 | T ovioR 916 UE aiaast
F TTY-TTY SA-I HTT SEdr ¢ sy garal o e

T AT R ZIT A 67
Al Gresham's Law/ 39

e
C} Say's Law /ST A

B} Griffin's Law / fafteT
GEEd
D) Engel's Law / Sfarer Ran

64} The first Nobel Prize in Bconomics was awarded to:
3R A U A R R T A ey

A} pad A Samuelson /9 B) Amartya Sen /30708 &9

T, A
C} fanTinhergan end Ragnar D} g0,/ fRemfiest
Frisch / ST Tewtsiae 31T

AR s

65) The term Ecosystem was proposed by:

PR o erearaeh Pt Segar oY o

167) The main component of liquid bleach is:

T ST ST HET UEE F 7
A) Hydrochloric acid f B] Sodium Chloride f
I EE i FEaR P HilsaA saEE
C) Seodium hypochlorate / D) Sodium hypochlorits /
s g FeRe HfzaH FEdl FaRET

168) International Women's Diay is observed on:
Harsira AfEe [as e A A1 87

A} 40 March /3 ARY

C} 3% March /3 A

B) 151 October / 15 3RER
D} 27t January £ 27 STl

169} VAT is imposed:

&z (VAT) ol o T ST £7

A) On first stage of B] Onall stapes between
production / FTATE & production and sale /
S Foare AR st el

A

C} On final stage of D) Directly on Consumer /
preduction / 3cUET & I IO
AR OTA

170} Chile saltpeter is the common name of:

TREelr o neer e AR Y
A) Potassium nitrzte / B} sodium nitrate 7 BT
C} sodium nivite  Tifzr D) Potassium nitoite /
e R AR

171) The Nobel Peace Prize for 2014 has been awarded to:

Al $A. Forbes/vmw wed B} vVemadsky/ :
e bl BBy T T N FART AT At 7
C) Thienemann /R D} sq. Tansiey / TS,
A} Kailash Satyarthi and - B] DBarak Obama
el Tawakkul Karman w1t FEE
Fomsr weardt s
{66) Which of the following is msponsible for fostering the FaFEA T
dtm:la?mcnt of danee, dm,ma and music in India? C) Kailash Satyarthi D) Kailash S hi and
I H e, e T T 3 Ty ot aaran & Y dii g Malala Yousafzai
ol AlefEa A A frmdr i o W 37T AT
A) Sahitya Akademi / Giftzer B) National School of Drama qYHAG
. / RiT A
T TR
C} Sanpeet Natak Akademi/ D) Lalit Kala Akadeni /
Tl A= st T Fe Hgelr
TG T 1A - 15 PT.0
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172) BOD stands for:

BOD ot diEca sa8?
A] Biechemical oxygan B) Biotic oxidation demuand /
demand / aF& AT arEfes adEe
C) Biological oxygen demand D} Biological oxidation
J S TorRe ST demand / aTAATSERS
Bar v BaE
£
173) The highest tile in Jude i3;
=2 & mafeT Saiy = &2
Al 10 Dan /TR S B) Yellow Belt / St dor
C) 10" Dan / EHET 3T D) Black Belt/ Tt dec
174] Arancology is the study oft
Wil el staa
A} Study of aphids / AIE &7 B) Study of spiders / A&3!
e ki  AE LI |
C} Rearing of bees / RaFEt B) Study of mites / TFET FT
et ! L=ip s |
175) IMF stands for:
IMF faerT AfET-T w7 572
A} Intemational Monstary B} Indian Manufacturiog
Funciion fimn
TR
€} Internmational Monetary D] Interest Minipum
Fund Funciton
ORI ATl hs o A o=
176) In our country the Van Mahotsava day is celehrated on:
FAN & A O AGIcHd [GaH & Hesrdl S 87
A) gy f1 TE B} jo% Aug/ 10 3mree
C) o Dec/ | BT D} st/ 5 Mg

177] \'r’hjch.type of switching is used in Intemmet?
Setae A & ered & Teawe o yahw fear sarg?

B
o

A} Cireut 7 SR9AETR)
C} Packet s T

Telephond | IO
Telex / ¥l H

178) The strangest oxidizing agent among the following is:

=TT ¥ Tet va 3 NS Ueie i
Al Oxyacn ¢ St Bl Chlorine 7 FERT
C) Yluorine / Tt D) loding / FEERET

179) Organic food i3 supposcd i be befter for human
consumphion because: :

HeTST § I & OI0 P Hisiel I 48t 41 7T
A 87

A) Tiistoo expensive to buy. B) It is prown without the use

S W FRd HEa ;i‘;!:g:;?ls & synthelic

eretr < vt o e
e & 9aRT e
ot 39T ST &

C) hisgrowninglasshouse D} it depends on chemicals &
& air bght environmenl. tertilizers.
FHHaFEE AN g v 3 3 Ot
e SR A 3 P wra g
ST ]

180) Who translated 'Mahabharatha' into Persian?
HRTHILA" & FRET A HAGIE fae ey an

A} Badauni / FETGAT
C) u-Ratuta / SEA-TaT

B) At Fazal / 340 TR
D) pabar/ @R

181) The Ozone laycr protects us from:
ISt U AT s T HT 67
A} Infraredrays/ FatET ) Visible rays /T3 faet
C) cosmic rays / MafEt
et

D) Ultea-Violet rays /&
CLCIRET

182) Commercially valued cork is obtainad from:
ATSas Hed aTe Fhe [FaY W gar 37

A) Codrus Deodara/W®  B) Cyeas / WIEFA
TR .
C} Ficus  wrEEE B} Quercus sp. / 35T .

szma:‘las.?..a.tpi
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1&3} The oath of office is administered 1o the Governor by the:
TSI Y 98 F% 37 Rl 2a v s Sl 27

A} Chief Justice of High Cout B) pyoaene iy

# 30 T 6 BET
aranrer

C) Speaker of Legistlafive D} Chicf Tustice of India /

 Assembly/ AU WHIF TR & e Farariy
ey
184} Gas enging was invented by: -
Tt ot T IR, e fowar an?
Al Dayvy £ 3 B} Daimler / sPIAST
) Diesel / Erter D} Chartes aed

-
Pl

185) What is the superapnuation period of Chiel Justice of
Supreme Court?

mwﬁmmﬂrﬁmﬁaﬁmmw
&7

A) 60 years 9k B) 62 years /g
) ﬁSyears!ﬂ'ﬁ' D) ﬁﬁyeamfﬁ'é‘
]
‘4 1B8) Scurvey is caused by:
Fdl O erahr st A e i

A) vitamin B/ Brermedr BY viamin s/ faf@E e
C) vitamin o/ fa@a e P} viamin ¢/ efia

187) Which Brigadier was associated with Jalhanwa!a Bagh
tragedy?
ST aTeT aT Z1GH €S- FARE 5a 4

188) Approximate nember of skeletal muscles:

TRtel ST AT T Hep AT HEr aage?
B} 200

D) 700

A} 206
c} 300

190) Which of the following was the early capital of the

Rashirakutas?

Y Y ST T R R A IR e
A) Sopara / B B) Bitora s wemr
C) vatapt / Framdy B} Ajanta / 305tar

194} The "Recall Provision™ to remove the elected office bearers
from the local Self Governmenl instifution has been executed
e '

mﬁamﬁﬁnﬂ#ﬁa&ﬁa QEENTER ol gl &

UEETE AT YISt ST J1, el 7T 47

A} \fadhya Pradesh /858 B} Kerala /300
TRt

C} Haryana ¢ 20T D) Bihar/ 2R

192] What do veu understand by the term ‘Dark Fermentation'?

iR TvnEr 3 39 T A o7
A} Mtizamethod to reduce B} [tisamethed o produce
COD in the atmosphere. f Hydrogen as a fuel from
1 ATy Hed A WHE waste water. / g ORI
FH Silel B gl B FAAHESURAFTTH
FIGGIe Scdeed @l
KCICE

Y iz amehod toproduce D} Itisamethod to dispose
melhane [oom organic

wastes, / g LR

nuclear wastes, S Og

—gFeal 3aRrT
A) Generst Hamis /o 2 General Dyer / 5o& N W— _ il
. Bro e BT e AT
: AR FI T 9E T B
€} Colopet Wellesly £ T D) Arthur Wellesly } 3
qoas ATl 193] Which of the following states having longest coastling in
India?
188) Arboriculture is the study of: TR 7 raifas § 3 e osg fragd ddl deianeg?
| W R A g A) Maharashira /FBRE B} Andhra Pradesh / 30U
A] Cultivationoftreesand ~ B] Seience of plant life iy
vegetables Y ST H A c) D}
a o d _||r r
Wﬁﬂﬂﬂﬁ"riﬁfﬁﬁ - Tamil Nadn m Gu_]ratfm
"€) Astof garden cultivation D)  Art of growing crops
AT ST FHA 39T I el
TXZ0 S 7 1393644 23 . PT.O
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194) Which ofI the Kushana ml-er patroniged Buddhism? 20D) Peen Dayal Antyodays Yojana launched on September 25,
st T HLEST HEIOT 4T F 1Y AU atg bo:
& B 2sFAGET L2014 F% 4F 15 Sed AT
Kaunl_v.,'a ;.ﬂm Ashoka ! 3% T o Hea DEd 32
C) Vikramaditya/ D) Kanishka / T
T A} Women conpowermeni B} Food security to old age
- wfgerauRasoT rural peaple
AT G T T TR
195) A eycle tyre bursts suddenly. This represents an: -
| TR 1 CR D W AN &) T T DA E? | o gl developmentinrural D) Poveaty allesiation among
A} 1soboric process { TREHET B} Isochoric process / and urbﬂﬂﬁrﬂﬂs SCABT
. : T e iR T OF 9T AT AN SR &
iy A AT TRET
C) Isothermal process / D} Adiabotic procoss / TETSH It
A i wfsar
196) Blue Revolution is related to:
AP N
A) poultry / T o B} Fisheries / ACE el
C) Drinking water /05 B} Space rescarch / JaRET
FFEH
197} Plammeter is vscd to measure:
vy 1wt s A % fon v ST &7
Ay Areas /2 B) Road Distance | TSH 631
C) Direction £ RIT D} Hoipht of azegion /&1
# T
198) Arundhati Roy is the author of the book:
e g e e B T AT E?
A) TheAlgcbraof Infinite B} ppy¢ 4 jie s gros v orss
Justice / & Teot 5 3G :
F 3
TAGEHIEE ST rbed
€) Truth, love and a linte D) ‘The Rising Sun { &
" .‘jg_ »
malice / YW . L*) S CLEC
fafea ARy :
199) Who built *Adhai Din Ka Jhopra' or 'A hut of two and a half
days at Ajmer?
TR % ard e o gt FeRE dearar e ‘
A) Quitbuddin Albak / " B) Alauddin Khalii /
Fgad Mas e [&estt
C} Balban f =ZoreeT] D] Muhamnad- bin- Tughlaq
. FEFAE- g
TRI015 1 1503644 22 ' GAES
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